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1. 250Ms/s - 2us - trigger on 1st - analyze 1st pulse 2. 250Ms/s - 2us - trigger on 1st - analyze 2nd pulse 3. 250Ms/s - 5us - trigger on 1st - analyze 1st pulse 4. 250Ms/s - 5us - trigger on 1st - analyze 2nd pulse. 5. 250Ms/s - 50us - trigger on 1st - analyze 2nd pulse
+ used miile : checkjitter002.m * used miile checkitter002.m + used miile : checkjitter002.m + used mfile heckiitter002.m « used miile : checkjitter002.m

input file + 20180525-0005\*.mat Generated waveform input file 20180525-0005\* mat Generated waveform input file + 20180525-0004\*.mat 1 Generated waveform input file 0180525-0004\ mat i Generated waveform input file + 20180525-0006\* mat i Generated waveform
available channels  : AC - C = sync available channels  : AC - C = sync available channels  : AC - C = sync available channels - AC - C = sync available channels  : AC - C = sync
repetition frequency  : 1000 08 repetition frequency  : 1000 08 ] repetition frequency - 1000 ask 1 repetition frequency  : 1000 repetiion frequency  : 1000 e
* data properties 06 * data properties 06 * data properties 06l 1 * data properties o6 * data properties 06
source 1 + 20180525-0005/*.mat source 1 20180525-0005/*.mat source 1 £ 20180525-0004/".mat : source 1 M source 1  20180525-0006/*.mat ’
sample frequency  : 250 MHz i sample frequency 250 MHz i sample frequency 250 MHz 1 sample frequency - sample frequency 250 MHz i
number of samples 2500 * number of samples  : 2500 ‘ number of samples 2500 number of samples ¥ number of samples  : 2500 ;
trigger point D 20us trigger point 20us trigger point :20us 02 trigger point 0z trigger point :-45.0 us 02
number data blocks 10000 = 2 number data blocks  : 10000 s a2z number data blocks  : 10000 T s number data blocks 5 & number data blocks  : 10000 =
* Time window and trigger g o * Time window and trigger E o * Time window and trigger 2 0 * Jitter found on sync g o * Time window and trigge: g o
trigger level S1 3 trigger level 100V & trigger level 100V 2 step size median 2 trigger level 100V Biss
time window : 1-2500 [sample] 02t time window 700 - 2500 [sample] 02 time window : 1- 700 [sample] o.2r 1 standard dev. 0.2 time window + 700 - 2500 [sample] -
* Jitter found on sync * Jitter found on sync * Jitter found on sync standard dev * Jitter found on sync 0%
step size median 1016ns D4 step size median 0.34ns 0.4 step size median 10.24ns 045 1 max - min 0.4 step size median 10.24ns
standard dev 0.29 samples standard dev 0.30 samples standard dev £0.29 samples standard dev 53 samples
standard dev ‘1ins 06 standard dev 12ns 06 4 standard dev ‘lins 06F 1 *Time window and trigger 06 standard dev ‘21ns 06
max - min :8.2ns max - min 85ns max - min :8.2ns trigger level 2100V max - min :8.6ns
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Zero crossing of trigger signal - Fs = 250 MHz Zero erossing of trigger signal - Fs = 250 MHz , Zero erossing of trigger signal - Fs = 250 MHz Zero crossing of trigger signal - Fs = 250 MHz , Zero crossing of trigger signal - Fs = 250 MHz
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